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1THEX 17 Bl X 4 5 S it O ATEX 1T Bl X 4 5 S it it [ fTEX 1T EL X 4 5 LS 7t QLIRS
1/RER 76 89 165 55 201 | &7 ERED 390 412 802 311 36 |BHABEN 637 674 1,311 360
(0] 1) | ( 1) (—TH) 2) 2, C 4 STH) 2) 2) 4)
pALIN = 391 389 780 319 202| &7 R D 652 700 1,352 582 N7HAEEL 353 345 698 215
(. 2/C DlC 9 (ZTH) 1) 0) | ( 1) (LT E) 0) 0) 0)
3 HTH 77 81 158 53 203 |'& /7 AR 557 561 1,118 444 318 BHAEE) 0 0 0 0
(Ol ool 0 (ZTH) 3) 4. C 7 (}\T E) 0) 0) 0)
40T 374 446 820 352 204 | & /7 FAbER 482 499 981 406 321 | HEE— 230 233 463 133
(O ool 0 (WTH) 0) 2, C 2 (—T H1~4%Hh) 1) 1) 2)
5— /4 63 57 120 31 211 |k 415 420 835 334 322| X HEE— 237 258 495 146
( 0) | ( 0) | ( 0) (—TH) 0) 1) ( 1) (ZT B4 2) 2) 4)
6| —/F4 86 85 171 50 212 |k 227 255 482 188 323 | HEE— 678 681 1,359 400
(0] 1) | ( 1) (ZTH) 0) 0/ C 0 (SRNEES ")) 2) 3) 5)
7= B4 164 178 342 128 213 |kt 286 261 547 199 324 | HEE 415 415 830 302
(O ool 0 (ZTH) 1) 0) | ( 1) (04T H1~17FH) 0) 1) 1)
8|EFH 155 156 311 105 214 |k 380 389 769 312 325 | HEE — 664 699 1,363 413
(0] 1) | ( 1) (MTH) 0) 1) ( 1) (BT B4 0) 0) 0)
9| g H 53 45 98 29 221 | BT DOY—TH 573 605 1,178 429 326 | HE— 340 387 727 214
(0] 1) | ( 1) 0) 2 C 2 ST H1~17%H) 0) 2) 2)
105 61 56 117 36 222 | BHITOY T H 688 676 1,364 505 327 | HEE = 885 918 1,803 525
( 0) | ( 0) | ( 0) 1) 2) | ( 3) (LT H2h) 0) 0) 0)
11| K% 43 44 87 24 223|BHITOY=TH 833 825 1,658 614 328 |k M = 226 235 461 159
(O ool 0 1) 0/ C 1 O\T H48) 1) 0) 1)
12|55~ 96 83 179 51 231|HEE—TH 609 638 1,247 454 329|pk M = 6 4 10 6
(0] 1) | ( 1) 0) Hn C 1N LT B4 0) 0) 0)
13 K& 43 49 92 23 232|lHEE-TH 809 860 1,669 601 331 | HEE 8 35 43 41
( 0) | ( 0) | ( 0) 0) 2) | ( 2) (—T H5~8%H) 0) 0) 0)
14 4 FH 81 81 162 45 233/ HEE=TH 362 379 741 267 334 | HEE = 479 474 953 347
(O ool 0 0) N C 1N (U T H18~28% 1) 2) 6) 8)
15/8A 92 75 167 50 241 | TG — 450 466 916 282 336 | HEE — 463 474 937 272
( 0) | ( 0) | ( 0) 0) 2) | ( 2) (NT BH18~35%i) 2) 2) 4)
16|75 5 H 106 118 224 63 242 |1 T5HE — 530 540 1,070 311 401| ERAA—TH 833 887 1,720 527
(0] 1) | ( 1) 4) I C D 4) 3) 7
20 i KA 279 272 551 191 301 [ RAGEH— 442 481 923 367 402 ERARTTH 0 0 0 0
( 0) | ( 0) | ( 0) (—TH) 0) 0) | ( 0) 0) 0) 0)
101 | K75 338 357 695 266 302 | WA EHE— 414 467 881 358 411\ KiGAK—TH 735 744 1,479 424
(—TH) ( 1) | ( NniC 2 (ZTH) 1) 3 4 6) 3) 9)
102 | K74 275 280 555 209 303 HGH = 548 587 1,135 443 412 KGR —TH 378 391 769 232
(ZTH) (0] 1) | ( 1) 0) H C 1N 1) 0) 1)
111 Od&hE—TH 843 853 1,696 653 304 A GE Y =— 1Y 166 188 354 162
( 3) | ( 3) | ( 6) 0) 2) | ( 2)
M2/ 0&WETH 478 464 942 387 3N |HAEHE— 574 609 1,183 410
(O ool 0 (—TH) 0) 1) ( 1)
12117V —2 bl 253 242 495 162 32\BHABE 465 507 972 317
(Ol ool 0 (ZTH) 0) 3y C 3
140|LHDR 229 219 448 166 NI FAEE= 648 668 1,316 410
(—TH) ( 1) | ( NniC 2 (ZTH) 1) 2, C 3
141 | HOR 47 58 105 11 M4 BHABRE= 202 210 412 144
(—TH) (Ol ool 0 (MTH) 3) 0, C 3
142\ L H0K 328 351 679 257 5 HAEREL 1,070 1,040 2,110 682
(ZTH) (. 2/C 8| 8 (WTH,LTH) 0) 1) | ( 1)
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